Howewerk 4 & ( solukiows)

Preblew V9. %
Celeke Vi = .6 5% , he=1480
Aoz M = 355 nm
Ne= Dofne = 3% pum
We st we Lregnebs eguahous b s low

L/{M\(‘/(A %\.m“%y e {’m»q i aLGI"‘"-ecj ouned 5 v eﬁe cq‘ae/
M[—Q o a\ec,i'* f,vd*ebur‘l ‘*\1 R = -CVL ed.) b/ w CE[CLQLQ

| (We1)2
aued d’fc_e acr L =Hp b Fle e
R _ }'lc-/ 2—_ 0 ! Q /Lié'— - 05)33
- Mot i €> Fleo+1. -

chqf;ou ef evergy eu(m‘»g e W/;feéd
7; = I"Ee = P, ?36/; 7;: /—t?e = Q?éz
AL

The  dieckuera o4 o Mg guoder  Wowe plate (2 fuch
Hiats e Po[MI%cuHoh covpone it caffawuﬂ with
£ CeR alow CK(Q t 8 MayeJ Ly ci_udee" - P-eﬂ oof
widh W%Q)ec;qr o4 s ok arie,

So & g Bt e aliged witl  ecwe of Yl

| Wawe blate axes | Here (& Wwo cheuge (w

\Za‘c& Po\a-.rl 20w - ?’ awal <\’(ua ﬁ)({) \Mu’%@l" p;;_
L\qc\u& et )y &0 e wiviwaaia ‘h"oMmlH//%
(8 0



However |

vy eoiahme,\ e Pg\ow:'%mh’ov. atdes P,

e drangforuceel cute ctrewlew | go hal€  od

e twl—&vb;%@ parins d{tvou%l« ' Pe(am‘-?em
More  aceuradely o inbewnly o light

after B G 3T aud e {whewnddy

alter B (8 a half el 'y, o Q‘LR

77“3 'S ieax, fo%/l'l[e g%ﬂazuw;?—&/cﬂu,

4

e weweplate o rodaded Lj 45°

A2, I¢ q}(x_( \E_% Wt i3 Sent ﬂ’kmu&h e Pola-n"baw
backwoirof . 0o/ o % wewy  go  dheougle e
“ ouhput Fo\u\; ec GE & polaciteshon |2 corveet )
e ge/{f rotated Ey 4&° tm a wm_% wofie
cf‘ygcfal, awnol Hee 14 R arever o e
! :vlqufr 9 \;)O[M;'%q,ﬂow W’ ety Pow 1t
ag's, Thew dle [l& [A Po[am;%ad\ima (2 cloder miiy
Ly__ e exfinedou raho o  {fle  [apa¥" ,
Po/a/w 2er ,  ge max 107> Haehiony of e JAVES
r€ ﬁ"audm [ cfvéeﬂ/ .

0.+
Veroled  cowgdaut V= d0 "/ ract
‘ O,70F e
o= V-B-B B> Yyp- AR
B= 0447 ( 1000 X Barth magectt i)

The Verdeb  Cowsdawnt (S fnwemﬁ-é/ /Dfapmﬂvﬁ"acm,/ YlF
e ght waveleugd;, o Frzsng, A5,
‘-E--\-_"‘N-

» : ; R
Heess Poss —— W47 5-3,‘;‘:“ Which, 13 #4o _nwﬁ £33 1
Tt veoas Wy = Ve Shpat peralizer ot



+

He

ees® (3.4°) = ©.08%

A3
dlee

SQualler

[Eng-

it allows

g&e/rq% e

533 lig(ut o L {g on will be
vvcwdzu&% il oy O Can 0%0'%
o a sualler spot | awd iy

V‘leu,cim.& dle Slze
(le  Sotre Sire coz’sc,

cenfpet c&‘*y

Ow

ok PH'S =5 “WLovre



